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IBM P2140-022 : Practice Test

Question No : 1

Which one of the following editors does not come with IBM Rational Application Developer?

A. WSDL Editor

B. XSL Editor

C. Java Visual Editor

D. Hibernate Mapping Editor

Answer: D

Question No : 2

When using Agent Controller to gather information about applications running on a remote
system you need to install Agent Controller:

A. On the same system as RAD is installed

B. On a remote system to which you would like to publish your application
C. On the remote system from which the log files are imported

D. On the system where you run test cases

Answer: B

Question No : 3

Why is IBM Rational Application Developer (RAD) important to SOA?

A. RAD is the Enterprise Service Bus (ESB) for SOA architecture.

B. SOA is a graphical extension to automated architecture. RAD graphical interface allows
SOA

automated architecture to develop service components.

C. RAD does not support any features for SOA, so it is not important for SOA.

D. RAD has the capability to develop SOA pieces such as Web services, which can be an
integral part of an SOA.

Answer: D

Question No : 4
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